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Lernziel: 
 

Sie verstehen die Differenzialrechnung und können weitere Funktionen (e, 
ln, sin und cos) ableiten. 

 
 

1. Leiten Sie ab. 
 

a) 𝑓(𝑥) = sin⁡(7𝑥)   𝑓̇(𝑥) = 𝐜𝐨𝐬(𝟕𝒙) ∗ 𝟕 

b) 𝑓(𝑥) = cos⁡(3𝑥)   𝑓̇(𝑥) = −𝐬𝐢𝐧(𝟑𝒙) ∗ 𝟑 

c) 𝑓(𝑥) = tan⁡(4𝑥)   𝑓̇(𝑥) =
𝟏

𝐜𝐨𝐬² 𝟒𝒙
∗ 𝟒 

d) 𝑓(𝑥) = 𝑒8𝑥   𝑓̇(𝑥) = 𝒆𝟖𝒙 ∗ 𝟖 

e) 𝑓(𝑥) = ln⁡(6𝑥)    𝑓̇(𝑥) =
𝟏

𝟔𝒙
∗ 𝟔 =

𝟏

𝒙
 

f) 𝑓(𝑥) = 𝑎4𝑥   𝑓̇(𝑥) = 𝐥𝐧(𝒂) ∗ 𝒂𝟒𝒙 ∗ 𝟒 

g) 𝑓(𝑥) = sin⁡(𝑥²)   𝑓̇(𝑥) = 𝐜𝐨𝐬(𝒙²) ∗ 𝟐𝒙 

h) 𝑓(𝑥) = cos⁡(𝑥8)   𝑓̇(𝑥) = −𝐬𝐢𝐧(𝒙𝟖) ∗ 𝟖𝒙𝟕 

i) 𝑓(𝑥) = tan⁡(𝑥³)   𝑓̇(𝑥) =
𝟏

𝐜𝐨𝐬² 𝒙³
∗ 𝟑𝒙𝟐 

j) 𝑓(𝑥) = 𝑒𝑥
9
   𝑓̇(𝑥) = 𝒆𝒙

𝟗
∗ 𝟗𝒙𝟖 

k) 𝑓(𝑥) = ln⁡(𝑥5)    𝑓̇(𝑥) =
1

𝑥5
∗ 5𝑥4 =

𝟓

𝒙
 

l) 𝑓(𝑥) = 𝑎𝑥
7
   𝑓̇(𝑥) = 𝐥𝐧(𝒂) ∗ 𝒂𝒙𝟕 ∗ 𝟕𝒙𝟔

2. Leiten Sie ab. 
 

a) 𝑓(𝑥) = ln (
𝑥+1

𝑥−1
)   

 𝑓̇(𝑥) =
𝑥−1

𝑥+1
∗
(𝑥−1)−(𝑥+1)

(𝑥−1)2
=

1

𝑥+1
∗
𝑥−1−(𝑥+1)

(𝑥−1)
=

1

𝑥+1
∗

0

(𝑥−1)
= 𝟎 

 

b) 𝑓(𝑥) = 𝑒𝑥+1   

  𝑓̇(𝑥) = 𝒆𝒙+𝟏 
 

c) 𝑓(𝑥) = 𝑒𝑥 ∗ ln⁡(𝑥 + 2)   

 𝑓̇(𝑥) = 𝑒𝑥 ∗ ln(𝑥 + 2) + 𝑒𝑥 ∗
1

𝑥+2
= 𝒆𝒙 (𝐥𝐧(𝒙 + 𝟐) +

𝟏

𝒙+𝟐
) 

 
d) 𝑓(𝑥) = ln⁡(𝑥2 + 2𝑥 + 9)   

 𝑓̇(𝑥) =
𝟏

𝒙𝟐+𝟐𝒙+𝟗
∗ (𝟐𝒙 + 𝟐) 

 

e) 𝑓(𝑥) = 5𝑥
2+3𝑥+2   

 𝑓̇(𝑥) = 𝐥𝐧(𝟓) ∗ 𝟓𝒙
𝟐+𝟑𝒙+𝟐 ∗ (𝟐𝒙 + 𝟑) 

 

f) 𝑓(𝑥) = ln (
𝑥2+4𝑥+9

𝑥
)⁡  

𝑓̇(𝑥) =
𝑥

𝑥2+4𝑥+9
∗
(2𝑥+4)∗𝑥−(𝑥2+4𝑥+9)

𝑥2
=

𝟏

𝒙𝟐+𝟒𝒙+𝟗
∗
𝒙𝟐−𝟗

𝒙
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g) 𝑓(𝑥) = sin(3𝑥2 + 3) + cos(𝑥3 + 𝑥)  

𝑓̇(𝑥) = 𝟔𝒙 𝐜𝐨𝐬(𝟑𝒙𝟐 + 𝟑) − (𝟑𝒙𝟐 + 𝟏)𝐬𝐢𝐧⁡(𝒙𝟑 + 𝒙) 

 

h) 𝑓(𝑥) = 𝑒𝑥
3+3𝑥    

 𝑓̇(𝑥) = 𝟑 ∗ 𝒆𝒙
𝟑+𝟑𝒙 ∗ (𝒙𝟐 + 𝟏) 

 

i) 𝑓(𝑥) = (𝑒𝑥
2+9)

3
∗ ln (

3

𝑥
) 

  𝑓̇(𝑥) = 3(𝑒𝑥
2+9)

2
𝑒𝑥

2+9 ∗ 2𝑥 ∗ ln (
3

𝑥
) − (𝑒𝑥

2+9)
3
∗
𝑥

3
∗

3

𝑥²
 

= (𝒆𝒙
𝟐+𝟗)

𝟑
∗ [𝟔𝒙 𝐥𝐧 (

𝟑

𝒙
) −

𝟏

𝒙
] 

 
j) 𝑓(𝑥) = (sin(𝑥3))²   

 𝑓̇(𝑥) = 2 sin(𝑥3) ∗ cos(𝑥3) ∗ 3𝑥2 = 𝟔𝒙𝟐 ∗ 𝐬𝐢𝐧(𝒙𝟑) ∗ 𝐜𝐨𝐬(𝒙𝟑) 

 

k) 𝑓(𝑥) =
sin⁡(3𝑥)

cos⁡(𝑥2+7)
  

 𝑓̇(𝑥) =
𝟑 𝐜𝐨𝐬(𝟑𝐱)∗𝐜𝐨𝐬𝟐(𝒙𝟐+𝟕)+𝐬𝐢𝐧(𝟑𝒙)∗𝐬𝐢𝐧(𝒙𝟐+𝟕)∗𝟐𝒙

𝐜𝐨𝐬𝟐(𝒙𝟐+𝟕)

 


